(0 @) (rad)

Ratio

SICEWATL

Ratio

Ratio

=
<

o p/p.)

=
<

a(d cot(d))

...............

1072k

Lok o103y
o k=1
=S I 1 I O I . @ 1.05
1.2F @
E 1

| U L. TS 11 N U1 G Lo

[o0Y R LA L e

rrrt

o
© ©
o o

oy

....... eeeeaan

0 1 2 3

-1 0 1 2 3
TP n (PCA to beamline)

—=#— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochl

1

z

oo a,) (cm)

107}

14100

1072

TP n (PCA to beamline)

.9105%_....!....!.

T C : |

---------------- T REEPRRPRRRR ||
11— ——
0 1 2 3 -3 -2 -1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


